Termes Manquants (J)

Remplissez chacune des espaces ci-dessous avec le terme manquant approprié.

15 + =27 14 + = 26
16 + = 34 4+ 18 = 31
11 + =24 15+ =29
14 + =29 12 + = 24
o+ 12 =23 13 + =28
_ + 18 = 33 16 + = 32
o+ 14 = 32 12 + =25
18 + = 34 + 18 = 29
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Termes Manquants (J) Solutions

Remplissez chacune des espaces ci-dessous avec le terme manquant approprié.

15 + 12 = 27 14 + 12 = 26 14 +
=12 =12 =
16 + 18 = 34 13 + 18 = 31 12 +
=18 =13 =
11 + 13 = 24 15 + 14 = 29 1+
=13 =14 =
14 + 15 = 29 12 + 12 = 24 1+
=15 =12 =
11+ 12 = 23 13 + 15 = 28 19 +
=11 =15 =
15 + 18 = 33 16 + 16 = 32 16 +
=15 =16 =
18 + 14 = 32 12 + 13 = 25 1+
=18 =13 =
18 + 16 = 34 11 + 18 = 29 18 +

= 16 = 11 =
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